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'54% "s ‘ Smile 2004
a little more
than half marks”

This envelope should contain
ten YELLOW and ten BLUE cards.

‘Use sensible gﬁesswork to match
the cards in p_cirs.

our answers with a°
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é These cards and those from 2004b should be cut out and put in envelope 2004.
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Smile 2004b

These cards and those from 2004a should be cut out and put in envelope 2004.
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Smile Worksheet 2389

Percentage Puzzle

You will need: scissors, glue

e Cut out the numbers at the bottom of this sheet.
e Place them on the sheet to make four true statements.

¢ Do not stick them down until you are sure that all four statements are true.
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Smile Worksheet 1096

Marks to percentages

Which is the best mark

gl

or or

20 25 40

Converting the marks to percentages is one way to compare
them.

f x3 \

So __7'_7 is the best mark.
20
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Use the two tables to answer the following questions.

In which term was Nazma’s English mark better?

—_

e

2. What did you notice about her marks for technology?

3. For which subject in the Autumn term did she get a
better mark than in the Summer term?

4. In which subjects did she improve her marks from the
Autumn term to the Summer term?

5 |n which subject did she make the most improvement?




Smile 1097
Fractions to Percentages

.

As an equivalent fraction
9 with 100 as the denominator. 45 As a decimal. Asa percentage. 4 5 ° /

For each of these fractions find e an equivalent fraction with 100 as the denominator
e adecimal
e apercentage

9 18 5 28

D, 1 2 13 3 18
) ) ) 25 25

wnles

As an equivalent fraction 70 doclmal " o
with 100 as the denominator, As a decimal, a percenlage.
42 > > 0.7 - 70%

60 100
42+6 _ 7 x0 _ 70
[w+s‘ ICEN mo]

For each of these fractions find e an equivalent fraction with 100 as the denominator
e adecimal
e apercentage

6 386 7 82 g 26 9 102 100 117
60 75 40 120 180
Write these fractions as ¢ a decimal
e «Q percentage
n 38 2) 3 »H 2 4 7 5 L1
) < ‘ 8 8 8 16

Turn over



A number of 4 year old cars had their MOT test. Some failed.

At garage A, 150 cars were tested and 42 cars failed.
42 out of 150 cars failed.

42 _0.28 =28%
150

The percentage of cars falling the MOT at garage A was 28%.

This table shows the number ot a— -
of failures at each garage. tested falied
A 150 42
B 320 128
c 180 54
D 480 84
E 72 27
F 256 64

® Find the percentage of cars failing their MOT at each garage.
® Which garage would you go to? Give your reasons why.

@ A number of households in six fowns were asked if they owned a video.

B | D [
Gloucester 8000 6400
Harrogale 6000 2220
Jarow 7500 2100
Keswick 15000 2550
Leicesler 21000 11970
Margate 3800 1140

® Find the percentage of households questioned which owned a
video in each tfown.

© RBKC SMILE 1094,



£3

Excess
Luggage

Smile 2024

Airline passengers may take a
certain amount of luggage free of
charge. Extra luggage has to be
paid for.

Why do airlines charge for excess
luggage?

Free luggage

FirstClass....... up to 30kg
Economy Class . . . up to 20kg

Air fares from London

Destination First Class | Economy Class
2 £
Addis Ababa 1089 529
Brussels 95 95
Cairo 862 339
Nairobi 1346 629
New York 1571 510
Paris 114 90
Rio de Janeiro 1720 801
Rome 406 171
San Francisco 1774 481
Tokyo 2284 1125




Luggage charges to Rome.

Excess luggage charge

Every extra kilogram (kg) costs

1% of the First Class fare. Copy this table and fill itin.

Weight of Luggage Charge
luggage First Class Economy Class
kg

Ngozi is travelling Economy Class 15

to New York. 17

She has 26kg of luggage. 19 -/\»\_N/J

20kg will go free. 21
6kg has to be paid for. ’;‘g
27
Each kg costs 1% of £1571 g?
1% of £1571 = £15.71 33
35

6 x £15.71 =£94.26 37

So Ngozi's excess luggage charge
is £94.26

Copy this table and fill it in.

Passenger | Destination Class Weight |Excess Charga Is 2Okg of [Uggage enough for most
of [luggag journeys?
luggage
Ngozi New York Economy | 26kg 6kg | £94.26 . . —
Is it worth going over the limit?
Pritesh Rome First 26kg
Paul Rio de Janeiro| Economy | 27kg /\/\) Do airlines use a fair way of
charging for excess luggage?
Yuen Ling| Brussels First 41kg ging 99ag
Chris Tokyo Economy | 28kg Can you think of a fairer way?
Maria Addis Ababa | Economy | 19kg

Turn over ©1892 RBKC SMILE




Smile 1208

PERCENTAGE
SALES

A shopkeeper
buys ringbinders
at £2.20 each.

25% of the cost is added to the price before they
are sold. 25% of £2.20

0.25 x £2.20
£0.55 This is the shopkeeper's profit.

he ringbinders are sold for
£2.20 + £0.55
= £2.75.

Calculate the shopkeeper's profit and the selling
price for the following articles.

Buying Percentage
price profit

1. 80p 25%

2. £1.70 10%

3. £5.40 30%

4. £5.00 15%

5. £9.70 20%

In a sale the original selling price of some articles
were reduced.

Calculate the reduction and the sale price of these
articles.

Original Percentage
price reduction
1= 70p 10%
2. £18.00 25%
3. £15.50 20%
4. £8.70 33% %
5. £4.40 15%

© RBKC SMILE 1884.
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